3 (Sem-6) ECO M 2 (A/B)
2020
ECONOMICS
( Major )
Paper : 6.2

Full Marks : 60

Time : 3 hours
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for the questions

Answer either in English or in Assamese

OPTION—A

( APPLIED STATISTICS )
( For Arts Stream Only )
1. Answer the following as directed : 1x7=7

oo FAIRA Fetmaa Sed i -

a Real wage R s SO 010
(@) . B Price index

( Fill in the blank )

2O = e 100
( &t o o1 4 )
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(b)

(c)

(d)

20A/758

(2)

The seasonal variations of a time series
occur

IR AgTe RS 73 I

(i) within a day
51 fr fooqe

(i) within a week

95! AR fooge

(i) within a month
b1 129 foeqe

(iv) within a year
9ol 9259 feoT@

( Choose the correct answer )

( % Tedchl MR Sferer )

Fisher’s index number is the of
Laspeyre’s and Paasche’s indices.

( Fill in the blank )
RORR PIRS (2 ADCER Wie

AT |
(<R 31 € )

What does the d, column of a life table
represent?

G S d, TEOIA [ P ?

( Continued )



(3)

(e) Price relatives used in the construction
of index numbers are pure numbers.

( Write True or False )
o SN 510 FCACS IITT F91 T ACARRS
G R 2 |
(= 7 orem foran )
(f) Distinguish between a parameter and a
statistic.
b1 A5E WF @1 efonfas Tere w9l AN
(&t |
(g) Can non-sampling errors be present in
census surveys?

Sojef SIEl Sfmfoe SARSH b U] e 2

2. Give short answer to the following questions :
2x4=8

wore fral eeaies oY Sed

(a) What is meant by deseasonalization of
data of a time series?

TG FpEe eEfe vy I R
T2

(b) Write two limitations of fixed base index
(FBI) number.

feafefe (FBI) pies o1 feror 1 R4
forar |

fc) Define vital events and vital statistics.

0o o1 S (o AfI3rE viges ey |
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(4)

{d) What method would you prefer in the
collection of data when the population
under study is (i) small and (i) very
large?

B AT FECS O (S Tafeq @o[e AT
frar o SuEeEe TR () T 9= (1) [
©leq 27 7

3. Answer any three from the following
questions : 5x3=15
et il e [ creen fefbre Tes fir
(a) Calculate trend values using 4-yearly

moving average for the time series given

below : 5
oo R FEEAIGR YRl 4 JRIE beE 9IS
Tz R Tomforgza I ey 71

Year 2001 2002 2003 2004 2005 2006

=9

Production

(in 000 tons) : 80 84 80 88 98 92

T

(’0005T®)

Year ;2007 2008 2009 2010

=T

Production

(in ’000 tons) : 84 88 80 100

G AT '

(' 000%7®)
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(S)

(b) Prove that Fisher’'s index number
satisfies both time-reversal test and

factor-reversal test. 5
AT 91 (T DR PR I TG A
S el el AR B e |
(c) Distinguish between age-specific fertility
rate and total fertility rate. 5
FPIRFE THeel 79 o P THqel 9 oL
Al |
(d) Describe briefly the main steps or stages
involved in a sample survey. S
dferd SAFFR O &b I3 {7
Ffe 1 |
(e) Define : 1+2+2=5
5] o4
(i) Hypothetical Population
LEIEICIIE
(ii) Sampling Unit
2S5 (ob
(iii) Standard Error
T @fo
4. Answer the following questions : 10x3=30
oS W erered Ted fi
fa) (i What is an Index number? 2
oIS 15 2
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(6)

(i) A worker earns ¥ 750-00 per month.

The cost of living index for a
particular month is given as 160.
Using the following data, find out
the amounts he spends on (i food
and (i) house rent : 8
@& Mficd ez F750-00 T A |
Al @1 T2 Gige 2" I P
160 frar =g | @oiq AR [l (98

(i) A SF (i) T oS AW I IS
foyefa 41 |

Group Expenditure (¥)| Group Index
T2 7 (5579) FoPIT T2
Food 7 190
A
Clothing 125 181
FICAT
House Rent ? 140
g Sy
Fuel 100 118
27
Miscellaneous 75 101
ST
Or/ 341
() What precautions should be taken
to select the base period to
construct an index number? &
RRT TS Fqta fefeay fafon seace
% & SRl weegm ke @ 2
20A/758 ( Continued )



(7)

(i) Given the following data : 6
Commodity Po 4o P i

A 1 10 2 5

B 1 5 x 2

Where pg, gy refer to base period
price and quantity; p;, q; refer to
current period price and quantity.
Find x, if the ratio between
Laspeyres’ (L) and Paasche’s (P)
index number is

L:P=28:27
SeTo M SR 4T

SR Po do B il
A 1 10 2] 5
B 1 ) x 2

TS pg, qo-9 TofeTdq wH = ~ARw;
P, @9 Sere T W WE R
TR | 9 T efy <1 3 = (L)
< 4RI (P) oI SoTe

L:P=28:27% |

(b) (i) Distinguish between questionnaire
and schedule. 2
2PRE] S PO Tew A14FT (T |

(i) What is stratified random
sampling? Discuss its merits.  3+5=8

g Aves afewe &2 [ JRemE
SICE B4 |
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(8)

Or/ 9«1

Explain the methods for measurement
of mortality. 10

TOR 24 5191 1 ARSI 10 41 |

(c) (i) Fit a straight line by the method of
least squares and find the trend
values from the data given below : 7

woro firgl ORIFA o[ ey Tof cFiecd
@Re Tme fWdRa s wre e

ToefSTRa T el 4

Year : 1991+ 1992 1993 1994
=T

Production - 7 88 94
(in 000 tons)

TeAA ,

(’000 57%)

85

Year : 1995 1996 1997

=T
Production : 91 98 90
(in *000 tons)

TeAm
(’000 BTe)

(i) Eliminate the trend by using the
multiplicative model. 3
BEE | WETEd  (multiplicative)
afocq TS SR (eliminate) F47 |

20A/758 ) ( Continued )



(9)

Or / S

Write short notes on any fwo of the
following : S5x2=10
o RePIA o e v (Bret for
(i) Life Table
&l 1 WP I
(i) Gross Reproduction Rate
72 2 21 '
(ii) Chain Base Index Number

BSGIEIEE R R s
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(10 )

OPTION—B

( ECONOMETRIC METHODS )

( For Science Stream Only )

1. Answer the following as directed : 1x7=7
ot frarcrea FotrEm e i

fa) Name a method how autocorrelation
can be detected.

T STvEm Fefy 1 oS <O T B
(b) Why is there type II error in
multicollinearity?

2l FTEES AR 1 T4 5 A1 2

(c) In a time series, heteroscedasticity does
not occur.

( Write True or False )
FECe REwfislere Seg w27 |
(W7 7 SR ferr )

(d) What does A represent in the partial
adjustment model

Yt =Yr-1 TMY; —yp1)+up, 0 LA £17
SR SIS Wiy
Yt =Yi-1 *MY; —Yp_q)+u, 0 LA 21
© A2 R e
20A /758 ( Continued )



(11 )

(e) What is the role of the dummy variables
in a model of the form y, = o +BD; +v,7?

Yy, =0 +BD, + v, SZe AT tee g 12
() Write one source of autocorrelation.
sl STeoTTEd Q1 T for |
(g) Give one advantage of least squares

method over moving average method in
the context of time series analysis.

T TS RSO 8o red sl ARSBN
o1 R o1 (T Resmae ovgo) |

2. Answer the following questions : 2x4=8

weTo frl ereaee Ted foan

(a) Draw a figure showing positive and
negative first-order autocorrelation.
GB1 Ba = IR TS WE AT A -
TR T ADTFACAE (TS |

(b) What is seasonalization of dummy
variables?

AT v Foeel Jferca & @ 2
() What is the problern of estimation of the
following consumption function?

C! = bo +b1Ydt +b2Ydt—I +b3AYd! +ut
where AYdl = Ydt —Ydt—l
eqq TR Teeldl  Focol M SR
wpifaar 6 2
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(12 )

(d) Mention two remedial measures when
multicollinearity is detected.

TPl ToTR R R 151 9] Sea 39 |

3. Answer any three from the following

questions : 5x3=15
ot fra epfeare R e bR Tee fa
(a) How is the presence of

heteroscedasticity  tested?  Discuss
briefly the ‘Lagrange’s multiplier test’ for
heteroscedasticity. 2+3=5
Reafiolrel @emE @ ceme s R{E-
foferel e 91 ‘EorEeR a0 o[
RSCB! SCETE 1 |

(b) What is dumy variable trap? How can

we overcome it? 2+3=5
AP v T 2 S @ T AR
4 e 2

(c) State the Koyck model and show how it
incorporates time lag. S

Koyck SfE &1 5 e sFEq a9dm
(AT TS T4 (208 (YA |
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(13 )

(d) Fit a straight-line trend by the method
of least squares to the following data : 5

o U@ O[T TFeN o fRfod RS U
Tomfs cadl oo I

Year - 2002 2003 2004 2005 2006 2007 2008 2009
9=

Earnings
(Tinlakh) ::38 .40, 65 72 69 60 87 95

e (T4S)

(e) What is the utility of time series analysis
to a businessman and an economist?
With what component of time series
would you mainly associate each of the
following? 2+3=5
AR Rems e e SdhifelnE
57 S 2 IECAS GO SARE T
off o XOARIER g (e 2
(i) The monthly record of rainfall in a

city
T2 YO AR T ATy

(i) Fall in death rate over the last
decade

(A1 T 44 3T 02 4 9N T[
(iii) An era of prosperity

T 3ol

20A/758 { Turn Over )



( 14 )

4. Answer the following questions : 10x3=30
oo il SR Ted fi
(a) Explain the methods of detecting the

(b)

20A/758

multicollinearity =~ problem in a
linear regression model. Discuss
the consequences of ignoring
multicollinearity. 5+5=10
9 FREART TMRE T IWA TS
RS | B (B B | I TSR
CAGA T IR SRR W@ PN

Ferpfesz % 2

Or / 41
From the following information, test the
autocorrelation : 10
1 2 3 4 5 6 {7

2 4 6 8 10 12 14

The tested model for the above
observations is Y; =1:2+0-6X,

@7 O 1 TG TR R 40
TR AW e WifE%r wE
Y, =1:2+0-6X,

Explain the adaptive expectation model.
What are the problems faced in

estimating the model? 5+5=10
e e SfEeT 41 | @2 iR
fAufaers SeRA crEr e [ 72

( Continued )



(15)

Or / 9«1
Show that for the first-order
autoregressive scheme. 10

2T FAFET ST (Fqe (S @
Uy =puy_1 +E&, [pI<1
where (3'9)
Efg,) =0
EEs)=0 t#s
=82 t=s
57
l—p2

Val‘(u!] 5

(c) Write the consequences of applying OLS
when there is autocorrelation. 10

ey SooTgm fkcE OLS @S $919 Fee
(2141 Terpfeca] o |

Or/ 9241

The following information  gives
hypothetical data on consumption
expenditure C, disposable income Y, ,
and wealth W, all in thousand rupees,
for a sample of 15 families :

4+2+2+2=10
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(16 )

ol e Ol 1561 AfREER w9 @
Segel W C, AN WE Y,;, W 7 W

(TCeT R TITO) TR
Family : 1 2 3 4 S 6 7 8 9
a sl 1 17 16 13 18 20 14
Yy : 36 12 16 18 17 14 20 23 15
w : 144 47 63 70 67 52 79 90 58
Family : 10 11 12 13 14 15
& ¢ 17 41 17 33 20 18
gy o5 B 50 19 37 22 19
w : 70 204 76 149 86 76
() Regress ConY, and W, and find R?
and ry w.
Y, SF W, T @RS C 3 @ R 2
S 7y, w Sfeed |

(i) Regress C on Y,; only.
g Y, 89Fe C-9 AR 97 |
(i) Regress C on W only.
qg W e o C-F TR 47 |

(iv) What can you conclude from the

preceding with regard to
multicollinearity?
T2 St Rew 2R o[ oft & qmen
e ofifar 2

* % %k
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